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Method

signature rﬂ'tu rm method argument argument

\ \ name\ type\ vﬂruibie

public static |double/lharmonic|(|[int n|)

{

local ~_|double sum|/= 0.0;
variable | for (int i = 1; i <= nj i+4);
method __~ sum += 1.0/1;

body return sum;

X

return statement




Method

/*

* AA I Hello2.java
*/

public class Hello2 {

public static int sum(int n, int m) {
return n + m; sum H2AE
1

/ main() HIAZ 0| A Ast A|Z
public static void main(String[] args) {
inti=20;
ints;
char a;

— . A
s = sum(i, 10); // sum() HIAE 2= main H2AE
a — |?|;
System.out.printin(a); / & At '?' 3tH =27
System.out.printin("Hello2"); // "Hello2" EAtYE 374 &=

System.out.printin(s); // &= s 2t 3t ==




N A=

O Lab2 — Basics (static method, Random, Scanner)
1. 4700 = HEYM 22| EAL2E, SN 22| 24t 22)8 Y= fraction &&=
=9 G, A ﬂ-“' LixdlS StCt.
fraction(3.0, 7.0, 2.0, 15.0);
Fraction Addition: 3.0/7.0 + 2.0/15.0 = 59.0/105.0
Fraction Subtraction: 3.0/7.0 - 2.0/15.0 = 31.0/105.0
Fraction Multiplication: 3.0/7.0 * 2.0/15.0 = 6.0/105.0
Fraction Division: 3.0/7.0 / 2.0/15.0 = 45.0/14.0
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O Lab2 — Basics (static method, User Input)

2. 7 N9 5 &0 1 = AO|9| BiESt S5

= BF2l5t= getRandomintBetween &
= xuw Stal AT RAOIXK| THESHS jsFven SHSZ ZHA S
|

4
f =7t 39| Hij=QIX| THE

LS = isPrim B8 ZHdS
= TSty =8€5t=

—

=

P._ |s|\/IuIt|pIesOfThree St=E Adotet Ha7F A0IX
cf 2|0 "H7t m*OW/E*OW 39| Hi=QIX|, &==QIX]
checkNumber &5 2t 5|2}

checkNumber(getRandomIntBetween(1, 100));
59 is odd number.

59 is NOT a multiple of 3.

59 is a prime number.

o



N A=

O Lab2 — Basics (static method, User Input)
3. & 79| == (long base, exponent) 20t X[=A At Zh(long)2 Et2tSHE=
powerCalculation &+& %4 stzl.
LHE o2 K71 B, 2% WE L+ A A4St Fast Exponentiation 22| &S
A& LY,
long base = getRandomIntBetween(1,10);
long exponent = getRandomIntBetween(1,6);
long result = powerCalculation(base, exponent);
System.out.printin("[Power Calculation using Fast Exponentiation] " + base + " A " +

exponent + " =" + result);
[Power Calculation using Fast Exponentiation] 8 ~ 3 = 512
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O Lab2 — Basics (static method, User Input)

4. ot J42| EXE 1t &+ 7He] "H=(min, max)& &0t 1 & ARO|Q| =X}E = | %O CEA
HS5HAM &S t|':“.: getUserInputBetween et=2 2ot} fﬂxfi—'?'—a AFO[ Q| #f
= 2ot L2 E85= void multiplicationTable() &+& 24 S}eEL.

multlpllcatlonTabIe(),
Please enter a number between [2-20]: 17
Multiplication Table for 17:

17x1 =17
17x2 =34
17 x 3 =51
17 x4 = 68
17 x5 =85
17 x6 =102
17 x7 =119

17 x8 = 136

” = 1\ A ™
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O Lab2 — Basics (static method, User Input)

5. RED, GREEN, BLUE, YELLOW, WHITE, BLACK € Zt= Color €HE &
= (r,g,b)E 2O} Color EAHI L = Ht=l5t= getColor &+& £H/d5tEl

System.out.printin("getColor(255,0,0) --> " + getColor(255,0,0));
System.out.printin("getColor(0,255,0) --> " + getColor(0,255,0));
System.out.printin("getColor(0,0,255) --> " + getColor(0,0,255));
System.out.printin("getColor(255,255,0) --> " + getColor(255,255,0));
System.out.printIn("getColor(
System.out.printin("getColor(0,0,0) --> " + getColor(0,0,0));
System.out.printin("getColor(255,0,255) --> " + getColor(255,0,255));
getColor(255,0,0) --> RED

getColor(0,255,0) --> GREEN

getColor(0,0,255) --> BLUE
(
(

~ N /N /N /N

getColor(255,255,0) --> YELLOW
getColor(255,255,255) --> WHITE

HOo|otL}, 3712l

255,255,255) --> " + getColor(255,255,255));
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O Lab2 — Basics (static method, User Input)

6. ot 7ol A== Zt(num)dt eF 7H2| E=(decimalPlace)E 2=
2t. decimalPlaces 27 3H B Xj2|0AM B2 ESX]E E% Ef
decimalPlace (&8 HYHM Xt2|)0|A Bt2 &0t &A= B2 E O 7a"l'f§ ._*5._P
AX Z0|A HF22IBF A _lfl__ﬁl__ AE Ao Math.floor
9| HFE*O .l ?é' g &H 0[5 3K 7WEIE = 2ot}
System.out.printIn("3.14159265 Decimal5 value: " + decimalValue(3.14159265, 5));
3.14159665 Decimal5 value:; 0.14159

System.out.printIn("5.983 Decimal value: " + decimalValue(5.983, 2));
5.983 Decimal?2 value: 0.98
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O Lab2 — Basics (static method, User Input)
7.2 0S| EXtES 2Ot EET CHEAIZ B A =50t LIHX|& 22 A2 B A =
= 5l= emphasizeVowels & 2Hdslat.
System.out.printin(emphasizeVowels("aStringThatLooksLikeThis"));
AstringthAtlOOKkslIkEthls

System.out.println(emphasizeVowels("Hello World, Java!"));
hEIIO wOrld, jAVA!
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O Lab2 — Basics (static method, User Input)

8. Ml 7H2| ‘d==(hour, minutes, seconds) Oj7fH=7} Q= convertToSeconds &+& %5}
2l O] &= 2 A, 2, = T == #H2tE 4 SO

J2|a MA =8 LEtl = ©Y = 2l (seconds)E F St convertFromSeconds & +E
Ztgstal o] gt HA X8 Z[CHDE Al(hounE BB OHE, E2 XE Z[THF & (minutes)
o=z Halotn 2|1 52 X(seconds)E =t}

convertToSeconds(2, 30, 15);

2 hours, 30 minutes, 15 seconds converted to total seconds is: 9015 sec
convertFromSeconds(9015);

9015 seconds is: 2 hours, 30 minutes, 15 seconds
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O Lab2 — Basics (static method, User Input)

9. = 7HQ| H== (rows, cols) Oj7HH==2 "R1CT" .. Z0|
—E—X}%ﬂ HH%‘% Ht2lSHE createSeatingChart &5 %t
AHE Hi 22 2Ot EEl|== printSeatingChart 24
(Ol E &0 571 Z0] H*Ofﬂ IS E A5t =5
ct O UM AFE AL} 'g'-keyE C’|=IEL".°F [[H77f7(| A=
xE=|o|-|:|-

ME
>_'_FE

e

= Hds
stet. 1zja 1
AtMSier gl
St= seatingChart()
SHAM MZ=2 Seatlng

E

=)
1

0x
E i

ﬂJ|ﬂJ

N 0ot

seatingChart();

Please enter row column number [e.g. 5,7]: 4,5

R1C1  R1C2 R1C3 R1C4 R1C5

R2C1 R2C2 R2C3 R2C4 R2C5

R3C1 R3C2 R3C3 R3C4 R3C5

R4CT R4C2 R4C3 R4C4 R4C5S

Press 'q' to exit the process or any-key to continue: g
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